
k"lhut tkm{ ? xhf/df

qm=; of]hgf If]q of]hgfsf] laa/)f kl/df)f OsfO{ of]hgf :yn
lalgof]lht ah]^-? 

xhf/df_
s}lkmot

1 cfly{s lasf;

1 s[lif sfo{qmd cfw'lgs s[lif sfo{qmd k|a$g 3 k^s cf=g=kf=1 3450

2 ko{^g lasf; 1 k^s cf=g=kf=3

2 ;fdflhs lasf; 1

2=1 vfg]kfgL lap/]kfgL a)*fnL / af}n]%*f em'h vfkf lgdf{)f 3 cf=g=kf=1 2047

2=2
a[xt l;+uf}*L, cf]lj, &'nf dfjf,>Lsf]^, ;fnsfl^of 

vfg]kfgL lgdf{)f 
1 j^f cf=g=kf=2 2000

2=3
lgn*f*f, hfd;g] kfgL ;'jf%]*f vfg]kfgL lgdf{)f 

of]hgf 
cf=g=kf=5 800

2=4 gfs]*f*f tf]lnrfvf vfg]kfgL lgdf{)f of]hgf cf=g=kf=5 800

2=5 l;+xf;}g j[xt vfg]kfgL lgdf{)f tyf ddt cf=g=kf=6 2000

2=6 j*f leqsf laleGg vfg]kfgL lgdf{)f 4 j^f cf=g=kf=9 1000

2=7 l;rfO{ kf]v/L lgdf{)f 5 j^f cf=g=kf=3 2000

2=8 ;fO{Ho'nf⁄wf}nfsf]^ l;rfO{ s'nf] lgdf{)f 2 j^f cf=g=kf=3 1500 800.700

2=9 s[lif l;rfO{ s'nf] kf]v/L lgdf{)f   5 cf=g=kf=2 1000

2=10 sfnfk*f b]vL hgHof]lt⁄ lv*\uLHo'pnf l;rfO{ s'nf] 2 j^f cf=g=kf=4 1500 800⁄700

2=11
/fd/x] kft]d]nf⁄ b'w]pnL lrxfg] atf;] l;rfO[ s'nf] 

lgdf{)f of]hgf 
2 cf=g=kf=5 2400

2=12 j*f leqsf l;rfO{ s'nf] lgdf{)f tyf dd{t cf=g=kf=6 2000

2=13 u}/fv]tsf] l;rfO{ gx/ cf=g=kf=7 500

2=14 :jf:Yo cf]Dsfgf :jf:Yo 4 sf]&] rf}sL ejg cf=g=kf=7 2500

2=17 lzIff ;/:jftL df=lj ejg lgdf{)f of]hgf cf=g=kf=2 1600

2=18 j*f g+=8 leqsf ;a} laBfnodf cgnfOg Aoa:yfkg cf=g=kf=8 1000

3 n}lus ;dfgtf tyf 

;fdflhs 
3=1 blnt tyf lakGg a:tL v/ %fgf d'Qm cleofg 1 k^s cf=g=kf=1 3500

3=2 blnt tyf lakGg a:tL h:tf kftf lat/)f sfo{qmd 1 k^s cf=g=kf=4 1500

3=3 Psn dlxnf blnt ckf+u pHofnf] sfo{{qmd 1 cf=g=kf=8 1500

3=4 blnt g]^js{ ejg lgdf)f{ 1 cf=g=kf=1 1500

4
;'zf;g tyf 

;:yfut lasf; af:s]^  km)* cf=g=kf=2 900

4=1 af:s]^ km)* - efg'eQm cf=lj=2 sf]&] ejg _ cf=g=kf=1 2500

4=2 af:s]^  km)* cf=g=kf=3 1900

4=3 af:s]^  km)* cf=g=kf=5 2800

4=4 af:s]^ km)*  lgdf{)f cf=g=kf=6 1500

4=5
ltn]kf^f :jf:y rf}sL PDa'n]G; vl/b P+j ;/;kmfO{ 

tflnd 
cf=g=kf=8 1200

4=6 af:s]^ km)* cf=g=kf=8 1000

4=7 j*f sfof{no / :jf:Yo kz' Aoa:yfkg cf=g=kf=9 600

4=8 af:s]]^ km)* -cw'/f of]hgf lgdf{)f / cGo sfo{qmd _ cf=g=kf=9 1400

4=9 afis]^ kmf])* cf=g=kf=4 2000

4=10 afis]^ kmf])* cf=g=kf=7 700

5 k"jf{wf/ lasf;

5=1
kz'ktL df=lj tNnf] df]* d]]x]nufp kl/kftn aly{u+ 

;]G^/ u)f]z cf=lj bx ;*s lgdf{)f  
cf=g=kf=9 1800

5=2 Plss[t j*f sfof{no ejg lgdf{)f cf=g=kf=2 3000

5=3 j*f sfof{no ejg lgdf{)f cf=g=kf=3 3900



5=4 l;dvf]nf ;]nufp df]^/af^f] cf=f=kf=4 2000

5=5 lbk]Gb| k|f=lj=3 sf]&] ejg lgdf)f{ cf=g=kf=4 1500

5=6 ;xfos ;*s ;b\b' tfpgL ;*s cf=g=kf=6 2000

5=7 sflnsf df=lj lkmN* tyf rkL{ lgdf{)f of]hgf 2 cf=g=kff=6 2000

5=8 u}/fv]t b]lv sflnsf]^ ;*s lgdf{)f cf=g=kf=7 2000

5=9 cf]Dsfgf b]lv j*f sfo{no ;Dd ;*s sfo{fno cf=g=kf=7 1500

5=10 dGemf* n#' laB't cfof]hgf cf=g=kf=8 2500

5=11 kz'ktL df=lj 4 sf]&] ejg lgdf{)f of]hgf cf=g=kf=9 3400

5=12 j*f sfof{no ejg lgdf{+)f cf=g=kf=5 4100

23 dflnsf cf=lj=2 sf]]&] ejg cf=g=kf=3 1600

83897

1=cfly{s lasf; 

1 s[lif sfo{qmd Ps j*f Ps s[lif pTkfbg sfo{qmd 9

cf=g=kf=1 

bvL 9 9000

2 s[lif ;+sng s]Gb| 1 cf=g=kf 4 400

3 afuafgL lasf; sfo{qmd 1 k^s cf=g=kf= 200

4 df^f] kl/If)f 1 k^s cf=g=kf=9 180

5 kz' lasf; sfo{qmd

6 kz' cf}ifwL vl/b 3 k^s cf=g=kf= 500

7 ko{^g xf]d :^] k|a$g sfo{qmd 1 cf=g=kf=4 200

8 {P]ltxfl;s ;Dkbf ;+/If)f sfo{qmd-vDaf,u'kmf / s'jf 1 cf=g=kf= 500

clwsf/L dlGb/ lgdf)f{ 1 cf=g=kf=3 300

9 s)ff{nL gbLdf /oflD^u+ ;+rfng 1 cf=g=kf= 1500

10 pBf]u tyf afl)fHo cNnf] k|zf]wg 1 cf=g=kf= ;fem]bf/L

12 s'G^f jfpg ufp s'^fgL lk;fgL ldn cf=g=kf=7 400

13 ;xsf/L gu/;xsf/L ;fem]bf/L tyf kf]N^L kmd{  sfo{qmd cf=g=kf= 900

14 2=;fdflhs lasf; 

15 lzIff dfWoflds laBfnox?df O xflhl/ h*fg 8 j^f cf=g=kf= 700

16 k|f=lj= tx céu]|lh l;sfO{ tyf sIff Aoa:yfkg 9 j^f cf=g=kf= 800

17 cf&jL; SofDk; k"jf{wf/ lasf; 1 j^f cf=g=kf=8 1000

18 gf/fo)f df=lj 2 sf]&] ejg lgdf)f{ 1 j^f cf=g=kf= 1500

19 lzIfs Ifdtf lasf; tflnd 1 k^s cf=g=kf= 400

20 k"j{ k|fylds tyf ECD lzIfs tflnd 1 k^s cf=g=kf= 200

21 afn lasf; s]Gb| Aoa:yfkg 9 j^f cf=g=kf= 600

22
Pd=la=la=P;=, :^fkmg;{ / Pr=P= %fqa[[lt bf];|f] ls:tf 

lg/Gt/tf 
3 j^f cf=g=kf= 3500

23 efg'eQm cf=lj 3 sf]&] ejg cf=g=kf=1 1000

24 lz$kfOnf k|f=lj ejg lgdf{)f cf=g=kf=2 1500

25 hg Hof]lt df=lj tnf yKg] cf=g=kf=4 2500

26 >f]t s]]Gb| Aoa:yfkg cf=g=kf= 200

27 :jf:yo Nofj ;]jf tyf ;fdu|L Aoa:yfkg 2 j^f cf=g=kf= 300 150⁄150

28 cf}ifwL vl/b 3 k^s cf=g=kf= 500

29 :jf:y ;]jf s/f/ ;]jf Aoa:yfkg 1 k^s cf=g=kf= 2200

30 dlxnf :jo;]lasf k|f]T;fxg 9 j*f ;a} j*f 900

gu/ :t/Lo sfo{qmd



31 P=cfO{=le= ePsfnfO{ kf]if)f eQf  1 k^s cf=g=kf= 400

32 a[xt :jf:Yo lzlj/ 2 k^s cf=g=kf= 500

33 dfxfdf/L /f]u lgoGq)f 1 k^s cf=g=kf= 200

34 g=kf=sf :jf:Yo ;:yf k"jf{wf/ Aoa:yfkg 9 j^f cf=g=kf= 450

35 kz'

36 kz' dfxfd/L lgoGq)f 1 k^s cf=g=kf= 200

37 kz' k|of]uzfnf Aoa:fyfkg 1 k^s cf=g=kf= 200

38 ;/;kmfO{

39 k")f{ ;/;kmfO{ j*f #f]if)ff 2 j^f cf=g=kf= 200

40 ;fa{hlgs zf}rfno a;'Gwf/f 1 cf=g=kf=4 300

41 /fsd ahf/ ;/;kmfO{ sfo{qmd 1 j^f cf=g=kf= 250

42 vfg]kfgL af;vf]nf cf/;og vfg]kfgL lgdf{)f 1 j^f cf=g=kf=1 1000

&'['nf df}jf vf=kf= l/hfn ^f]n 1 cf=g=kf=2 600

43 l;rfO{ vf/s'nf] lgdf{)f 1 j^f cf=g=kf=3 1200

s'G^]u*f kf]v/L lgdf)f{ 1 cf=g=kf=8 500

44 3=n}lus ;dfgtf tyf ;fdflhs ;dfa]lzs/)f

45 blnt blnt ;r]lts/)f sfo{qmd 1 k^s cf=g=kf= 700

46 aflb l;k lasf; tflnd 9 j*f cf=g=kf= 150

47 dlxnf lszf]/L cfTd;'/Iff sfo{qmd 1 k^s cf=g=kf= 100

48 ;]g^/LKof* lgdf{)f tflnd-pk k|d'v sf];]nL_ 1 k^s cf=g=kf= 200

49 afnaflnsf /fli^o afn lba; sfo{qmd 1 k^s cf=g=kf= 50

50 afnd}qL j*f #f]if)ff sfo{qmd 2 j*f cf=g=kf= 50

51 afnlaafx Go"lgs/)f cleofg 9 j*f cf=g=kf= 50

52 h]i& gful/s h]i&gful/s ldng s]Gb| ejg⁄ Wofg s]Gb| lgdf)f 1 j^f cf=g=kf= 900

53 ckf+u ckf+utf ePsf] nfO{ l;klasf; tflnd 1 k^s cf=g=kf= 300

54 4= k"jf{wf/ lasf;

55 lelqvf]nf n#' hnlaw't of]hgf ;fdfu|L vl/b s|dfut 1 cf=g=kf=5 2500

56 ;*s 

57 vf]lnahf/ cf]dsfgf ;*s :t/pGgf]tL cf=g=kf=7 ;fem]bf/L

58 gu/sf laleGg ;*sx? :t/ pGgf]tL 9 j*f cf=g=kf= 1000

59 ejg Plss[t ;]jf ;lxtsf] j*f ejg 1 cf=g=kf=9 3400

60 ;/:jtL cf=lj ejg lgdf)f{ 1 cf=g=kf=8 1500

61 uf]s'n cf=lj ejg lgdf)f{ 1 cf=g=kf=5 500

62 vf]bfO{ dlGb/ lgdf)f{ 1 cf=g=kf 4 250

63 clwsf/L dlGb/ zf}rfno lgdf)f{ 1 cf=g=kf 7 500

64 x'gdfg dlGb/ lgdf)f{ 1 cf=g=kf=8 300

65 emofp/] lkkn cf=lj ejg lgdf)f{ 1 cf=g=kf 7 500

66

67 ag jftfj/)f k|ltlglw xl/ofln sfo{qmd 1 k^s cf=g=kf= 100

68 gfpnL vfg]kflg lgdf)f{ -;flas7_ cf=g=kf=8 500

69 ag ;+/If)f sfo{qmd tyf hl*a'^L v]tL 1 k^s cf=g=kf= 300 200⁄100

70 5=;'zf;g tyf ;:yfut lasf; hDdf

71 hgk|ltlglw cGt/kflnsf l;sfO{ e|d)f 1 k^s cf=g=kf= 500



72 sd{rf/L cWofog e|d)f 1 k^s cf=g=kf= 200

73 Goflos ;ldlt sfo{fno Aoa:yfkg 1 k^s cf=g=kf= 200

74 d]nldnfk tyf Goflos ;ldlt k"g{tfhuL tflnd / e|d)f 1 k^s cf=g=kf= 200

75 ;km\^jo/ lgdf{)f tyf vl/b dd{t 1 k^s cf=g=kf= 300

76 Onfsf k|x/L sfof{no kmlg{r/ Aoa:yfkg 1 k^s cf=g=kf= 100

77 Onfsf k|x/L sfof{no ;jf/L ;fwg Aoa:yfkg 1 j^f cf=g=kf= 250

78 ltn]kf^f k|x/L rf}sL kmlg{r/ Aoa:yfkg 1 k^s cf=g=kf= 100

79 o"jf tyf v]ns'b hDdf

80 ^fk' v]ns'b d}bfg l;df lgwf{/)f tyf #]/af/ 1 j^f cf=g=kf 300

81 gu/ :t/Lo v]ns'b  1 k^s cf=g=kf= 300

82 lalaw hDdf

83 gu/ k|d'v /f]huf/ sfo{{qmd 1 k^s cf=g=kf= 8000 1000

84 ;jf/L ;fwg vl/b - df]^/;fO{sn _ 4 j^f cf=g=kf= 1000

85
%fpk*L, %'jf%'t tyf n}lus lae[b la?$ ;r]lts/)f 

sfo{qmd 
1 k^s cf=g=kf= 350

86 nf]s;]jf tof/L sIff 1 k^s cf=g=kf= 300

87 cfof]hgf Aoa:yfkg 1 k^s cf=g=kf= 1800

88 ax'If]lqo kf]if)f sfo{qmd ;fem]bf/L 1 k^s cf=g=kf= 1612

89 hg k|ltlglw ladf sfo{qmd 1 k^s cf=g=kf= 300

90 :jfut u]^ lgdf{)f 1 j^f cf=g=kf=1 400

91 dlxnf ;+u pkk|d'v, gu/kflnsf sf]if]nL 1 k^s cf=g=kf= 2000

92 lakb Aoa:yfkg sf]if 1 k^s cf=g=kf= 500

93 kqsf/Ltf k|a$g sfo{qmd 1 k^s cf=g=kf= 200

94 ;fem]bf/L sf]if 1 k^s cf=g=kf= 10000

95 dlxnf :jf:Yo lSnlgs tflnd ;+rfng 1 k^s cf=g=kf= 200

96 gu/kflnsf ;'Ts]/l cfdf sf];]nL sfo{qmd 1 k^s cf=g=kf= 450

97 Pkm=Pd= /]l*of] :yfkgf 1 k^s cf=g=kf= 2499

98 cw'/f ejg lgdf)f{ j*f 1,2,7,8 / 9 7 j^f cf=g=kf= 3000

hDdf 86791

s'n hDdf 170688

0



j*f g+=1 j*f g+=2 j*f g+=3 j*f g+=4 j*f g+=5 j*f g+=6 j*f g+=7 j*f g+=8

8936112 5734968 7035744 5605488 6400296 6972000 6723000 6655272

4806519.58 2774362.3 3516567.29 1790198.5 5030665.49 3129136.28 996039.1 1689259

13742631.58 8509330.3 10552311.3 7395686 11430961.49 10101136.3 7719039 8344531

6600 9000
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j*f g+=9

4157304

1217216

5374520 83170147
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